TR 2 34F 6 F ORI RBE RS ()

BN : uSv/h

A [ W | K& R | P e | i B R e [ e R AR S T AT
ERESEY) 0. 140 0.167 0.107 0. 100 0.147 0.163
2H[ AR W 0. 160 0. 170 0. 120 0. 100 0. 120 0. 160
SH| & |2 0. 120 0. 190 0. 140 0. 130 0.110 0. 140
4H | + | BN 0.103 0.107 0.093 0.093 0. 100 0. 090
5H| H [Z= 0.193 0.107 0. 097 0. 100 0.113 0. 097
6H | A | iFih 0. 097 0. 140 0.117 0. 090 0.117 0.123
TH] k[ZY 0. 156 0.116 0.123 0.083 0. 090 0. 140
8H | K| = 0.123 0. 150 0. 147 0.163 0. 120 0. 140
9H | A& | i 0.112 0.113 0. 140 0.127 0. 223 0.133
10F| & |2 0.110 0.113 0. 160 0.107 0.127 0. 170
1HE[ ] MW 0. 165 0. 100 0.093 0.107 0. 096 0.117
12| H [ = 0.106 0. 142 0.133 0.110 0. 180 0. 180
13| H [Z&Y 0. 200 0.107 0.117 0. 087 0. 140 0. 147
14H] k[ZY 0. 140 0.103 0. 180 0.127 0.133 0. 100
EEIENE 0. 147 0.093 0. 083 0. 083 0. 100 0. 187
16H| K |[ZY 0. 140 0.097 0.113 0.100 0.133 0. 090
17H| & | W 0.167 0. 120 0. 100 0.110 0. 160 0.167
18A| + |2 0.170 0. 140 0.073 0.113 0.163 0. 140
19H]| H [ &= 0. 140 0. 100 0.127 0.093 0. 137 0. 187
200 A | & 0. 097 0.167 0. 100 0.103 0. 100 0. 143
21H| kK | & 0. 186 0. 086 0.123 0. 090 0. 090 0.153
220 | K| B4 0. 097 0. 090 0. 120 0.093 0. 120 0.107
23H| R | & 0.123 0. 220 0.133 0.087 0.103 0.127
40| & | & 0. 107 0.123 0.113 0.093 0.130 0.130
250 + | & 0. 100 0. 100 0. 090 0. 100 0. 090 0. 100
26| H | & 0. 120 0. 100 0.133 0. 046 0.153 0. 140
2TH| A | & 0. 140 0.103 0. 143 0.116 0.123 0.115
28 H [ k| HEAL 0.110 0. 087 0. 097 0.077 0.110 0.117
29H [ /K | BEAL 0.077 0. 083 0. 083 0. 090 0.107 0.183
30H| K| & 0. 100 0.136 0.103 0.130 0.123 0. 096

RDS-30 (S VA>T 27 7 ao—il) Z{fH
H E1mps 2@ 0> 5 omlL BN 72 i TEHHI




Wopk 2 34 7 H OB BRERIER R (FFAR)

B : uSv/h
H | | K& | HEE s | B Sess R v ek Bk o [ g o 3 i e
1H| 4|2 0.110 0. 100 0.096 0. 096 0. 090 0.137
2H | + |2 0.170 0. 390 0. 157 0.193 0.137 0.120
3H| H |2 0.083 0. 100 0. 093 0.110 0.110 0.097
40 | A | &= 0. 097 0.110 0.115 0. 090 0. 090 0.115
5H | k|2 0.126 0.123 0. 090 0. 093 0.136 0.120
6H | /K | KL 0. 097 0.120 0. 083 0. 067 0. 107 0. 143
TH| K|[Z 0.127 0. 100 0. 080 0.120 0.103 0. 147
SH | 4|2 0.113 0. 100 0.103 0. 097 0. 107 0.120
9l | [ = 0.153 0. 147 0.079 0. 097 0.213 0.113
10H]| H | B§iL 0.143 0.177 0.073 0. 090 0.093 0.220
11H| A | i1 0.117 0.116 0.116 0.113 0.097 0.113
128] k| & 0.120 0.120 0. 156 0. 106 0.116 0.120
13H | /K | i 0. 100 0. 067 0.073 0. 087 0.077 0.133
14H| K | Bl 0. 130 0.143 0. 080 0.113 0. 087 0.137
15H]| 4 | B5iL 0. 190 0. 147 0.110 0. 090 0.127 0. 230
16H| 1 | B5iL 0.137 0.137 0. 080 0. 097 0.197 0.127
17H| H | B§1L 0. 100 0.393 0. 090 0. 090 0.097 0.103
18H| A | B§iL 0. 140 0. 147 0. 157 0. 120 0.133 0.163
1I9H| X | e Ik ) E Ik I E Ik I E Ik I E Ik I E Ik
20H | A 0.106 0.103 0.103 0.076 0.083 0.126
21H| K | &= 0. 097 0. 097 0.103 0.143 0. 090 0. 090
22H | 4 | i 0. 127 0.123 0.120 0. 083 0. 140 0. 130
23H | = | i 0. 100 0.113 0.103 0.093 0.103 0.117
24H| H | G 0.133 0. 383 0.133 0. 066 0.123 0. 086
25H[ A | = 0.117 0. 154 0.127 0.143 0. 130 0. 140
260 [ k| = 0. 140 0.103 0. 140 0. 097 0.167 0.110
271H| K | = 0. 140 0.103 0. 100 0. 300 0. 143 0. 180
28H| K | &= 0.127 0. 153 0.103 0. 097 0.110 0. 107
290 4| W 0.117 0.083 0. 100 0.113 0. 140 0.193
30| | 0.130 0.143 0.133 0.113 0.127 0.170
3IH| H |=V 0. 097 0. 097 0. 097 0. 093 0. 097 0. 090
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Wopk 2 34 8 H O B ERlER AR (HFR)

B : uSv/h
H | | K& | HEE s | B Sess R v ek Bk o [ g o 3 i e
1H| A &= 0. 140 0.070 0. 087 0. 087 0.097 0.193
2H | k|2 0.110 0. 090 0. 100 0.110 0.130 0. 100
3A | K |2 0.136 0.106 0.103 0. 130 0.103 0. 143
4H | K| = 0. 097 0.127 0. 107 0. 093 0. 090 0.123
5H | 4| 0. 156 0.076 0. 093 0.103 0. 100 0. 146
6H | + |2 0. 090 0.103 0. 107 0.073 0.117 0. 143
7TH | H | i 0. 090 0.070 0.130 0. 097 0. 167 0.127
8H | A | 0. 060 0. 146 0. 093 0.110 0. 086 0. 096
91 | k| HE 0. 143 0. 143 0.133 0. 080 0.113 0. 105
10H | 7K | i 0. 090 0. 097 0.070 0.203 0.130 0. 160
11H]| K | il 0.143 0. 100 0.083 0. 097 0.097 0.173
12H]| 4 | B§iL 0. 107 0. 097 0.127 0.103 0. 100 0.113
13| - | B5#L 0.113 0. 100 0. 090 0. 090 0.110 0. 093
14H| H | B51L 0. 107 0.127 0.077 0.077 0.097 0. 157
150 A | B 0. 140 0.127 0.077 0. 087 0.163 0.193
16H| X | BgiL 0.103 0.113 0.083 0. 120 0.120 0.093
17H]| K | B§iL 0. 130 0.103 0.126 0.133 0.126 0.176
18H| A | BgiL 0. 107 0. 157 0.117 0. 057 0.110 0.097
9H| 4| ™ 0.113 0.113 0.123 0.113 0. 090 0.127
20H] | &=V 0. 100 0. 097 0.110 0. 090 0. 100 0. 100
200 H | W 0. 150 0. 100 0.110 0. 096 0.110 0. 100
2B A | W 0.173 0.133 0.163 0.110 0. 090 0.133
23H] K| W 0.167 0.110 0.077 0. 147 0. 097 0.110
240 K| =D 0.133 0. 063 0.103 0. 130 0.113 0. 130
250 K| W 0.110 0.133 0.120 0.127 0. 107 0. 140
260 & | =Y 0. 146 0.113 0.110 0. 100 0.110 0.133
27H| | &=V 0. 156 0.086 0.117 0.083 0. 097 0. 287
28H| H | i 0. 100 0. 097 0. 090 0. 097 0. 090 0.117
29H| H | G 0.120 0. 090 0. 097 0. 137 0.103 0. 120
30H | k| K 0.110 0.083 0.093 0. 087 0. 080 0. 100
31H| K| =D 0.173 0.083 0.073 0. 090 0. 140 0. 106
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Wpk 2 34 9 H OB BrRERlER AR (FFAR)

B : uSv/h

H | | K& | HEE s | B Sess R v ek Bk o [ g o 3 i e
1H| A= 0. 107 0.127 0.127 0. 067 0. 137 0.127
2H | & | 2 0.143 0.130 0. 093 0.077 0. 140 0.127
3H | &= | W54L|  0.130 0.110 0.133 0.111 0.070 0. 150
40 | B [ &= 0. 157 0. 137 0.120 0.123 0. 097 0. 200
5H|l A 0. 107 0. 090 0.133 0. 100 0.120 0.183
6H | k| #g 0. 130 0.110 0.133 0.111 0.070 0. 150
TH | K[ Wav|  0.117 0. 087 0. 097 0.110 0. 080 0. 147
8H | A |MiL| 0.120 0. 067 0. 100 0. 090 0. 060 0.133
90 | & | 0. 090 0.070 0. 087 0. 090 0. 080 0. 090
100 &= | B54L|  0.090 0.110 0. 090 0. 100 0. 100 0. 100
11H| H | H#L|  0.120 0. 107 0. 100 0. 097 0. 104 0.104
12H] H

13H]| X

14H| K

I5H| K

16H| 4

17H| +

18H| H

19H] H

20H | k

21H| /K

22H| K

230 | &

24H| +

26H| H

26H | H

27TH| k

28 H| /K

29H| K

30H| 4
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SERL 2 34E O A OO BRI E R ()

HAL : uSv/h
a || xx SHEHH S R BV B SHEHE TR
10cm 1m 10cm 1m 10cm 1m 10cm 1m 10cm 1m
1H [ K
20 | &
3 | &
4H | H
5H| A
6H [k
7H [ K
8H | K
9H | &
10H| +
11H| H
128 A [#E2]0.125 [0.165 [0.095 [0.080 [0.090 [0.090 [0.075 [0.100 [0.115 [0.100
130] k& [HF41] 0. 115 [0.125 [0.120 [0.115 [0.085 [0.085 [0.100 [0.085 [0.105 [0.140
1408 A& [#F210.095 [0.115 [0.105 [0.075 [0.100 [0.080 [0.150 [0.135 [0.105 [0.110
150 [ A [FF41]0.090 [0.080 [0.130 [0.120 [0.090 [0.090 [0.095 [0.065 [0.100 [0.105
160] 4 |54/ 0.090 [0.125 [0.105 [0.080 [0.095 [0.105 [0.055 [0.085 [0.090 [0.090
17| &+ E'/L 0.090 [0.105
18H| H |IF4L
19H| A |IF4L
206 k| 9 10.110 ]0.150 [0.095 [0.085 [0.110 [0.110 [0.195 ]0.120
210 | M9 10.120 [0.105 [0.140 [0.120 [0.100 [0.095 |0.145 ]0.095 [0.075 [0.085
221 [ A [BF4]0.110 [0.140 [0.095 [0.065 [0.095 [0.080 [0.145 [0.110 [0.100 [0.090
23H| 4
240 ] + 4L 0.070 [0.085
25H| H
268 H |=9[0.075 |0.105 [0.160 |0.125 [0.090 ]0.100 0.120 [0.120
27H[ k=Y [0.120 |0.145 [0.165 [0.095 ]0.110 [0.140 [0.110 ]0.080 [0.100 [0.075
28A | Kk [HE41[0.070 [0.165 [0.110 [0.095 [0.080 [0.090 [0.135 [0.080 [0.110 [0.100
29A | A [HE41[0.090 [0.100 [0.080 [0.070 [0.090 [0.090 [0.110 [0.115 [0.100 [0.100
30A] 4 [ME4]0.110 [0.150 [0.130 [0.105 [0.085 [0.095 [0.115 [0.100 [0.105 [0.100
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Fpk 2 341 0 A DU ARERNER K ()

HAL : uSv/h
a || xx SHEHH S R BV B SHEHE TR
10cm 1m 10cm 1m 10cm 1m 10cm 1m 10cm 1m

EHES

2H | H

3A [ A [/ ]0.130 [0.080 [0.130 [0.135 [0.090 [0.105 [0.070 [0.080 [0.110 [0.090
48 [ K [HEA]0.105 [0.110 [0.105 [0.095 [0.090 [0.090 [0.105 [0.050 [0.095 [0.085
5 7K R 10.090 [0.100 [0.130 |0.105 [0.085 [0.075 [0.160 [0.080 [0.120 |0.090
6H [ A [HFA[0. 110 [0.105 [0.145 [0.145 [0.085 [0.085 [0.120 [0.090 [0.095 [0.105
7H [ 4 KA 0.085 [0.090 [0.090 [0.085 [0.110 ]0.095 [0.070 |0.145 [0.100 [0.100
8H | 1=

9H | H

100 H

1A k| Z 10.110 [0.120 [0.160 [0.135 [0.095 [0.095 [0.150 [0.095 [0.095 [0.100
12H[ /K| = 10.120 [0.125 [0.125 [0.140 10.130 ]0.130 [0.145 [0.120 [0.115 ]0.145
BH[AR] = 10.130 [0.095 [0.070 [0.130 ]10.115 ]10.100 [0.100 [0.065 [0.160 ]0.085
14H | 4| = [0.090 [0.115 ]0.090 [0.125 [0.080 ]0.100 [0.135 [0.115 |0.150 [0.095
15H| T

16H| H

170 H [IE40.095 [0.115 [0.085 [0.120 [0.070 [0.100 [0.135 [0.070 [0.120 [0.095
18H [ K [FE41] 0. 100 [0.085 [0.115 [0.105 [0.140 [0.075 [0.150 [0.085 [0.115 [0.075
19A| /K| = [0.075 ]0.150 ]0.150 [0.130 [0.080 ]10.110 |0.115 [0.100 0.150 ]0.115
200 K[ = [0.065 [0.090 10.130 ]10.105 [0.110 ]0.075 10.150 10.065 [0.130 [0.090
21H[4| = [0.085 |0.075 [0.175 [0.140 ]0.090 [0.100 [0.110 ]0.140 [0.080 [0.085
22H| T

23H| H

245 H| = [0.100 [0.115 [0.125 [0.070 [0.085 [0.120 [0.080 [0.130 [0.075 [0.125
251 | & [HE4L[0. 100 [0.140 [0.135 [0.095 [0.115 [0.105 [0.095 [0.130 [0.110 [0.070
26 A | ZK [BE41[0. 130 [0.130 [0.110 [0.110 [0.095 [0.085 [0.150 [0.080 [0.090 [0.070
27A| AR [HE4[0.080 [0.075 [0.175 [0.075 [0.105 [0.065 [0.125 [0.085 [0.100 [0.110
28A | 4 54/ 0. 115 [0.105 [0.100 [0.130 [0.090 [0.125 [0.160 [0.120 [0.125 [0.187
290 [ T [iF4 0.100 10.080 0.090 [0.100

30H| H

1A H 4] 0.095 0. 150 0.100 10.080 0.100 [0.090

IBHMNGHEDE X Zb5emé ImlZ 2 H
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Fpk 2 341 1 A OBUNSRERNER R (HER)

HAL : uSv/h
a || xx SHEHH S R BV B SHEHE TR
5cm 1m 5cm 1m 5cm 1m 5cm 1m 5cm 1m

10 | k(g2 0.165 [0.070 [0.110 [0.155 [0.130 [0.105 [0.120 [0.150 [0.105 [0.100
28 [ K [KFA][0.075 [0.100 [0.115 [0.105 [0.130 ]0.115 [0.120 [0.155 [0.105 [0.080
3H [/

48 | 4 K4 0.080 [0.140 [0.165 [0.160 [0.130 ]0.120 [0.165 [0.075 [0.080 [0.115
5 | 1=

6H | H

70 | H[KEA]0.175 [0.125 [0.145 [0.085 [0.085 [0.115 [0.075 [0.095 [0.105 [0.090
sH [ k] = [0.080 [0.095 [0.070 [0.105 [0.080 |0.125 [0.150 [0.110 [0.115 [0.080
98 [ /K [KFA[0.090 [0.085 [0.130 [0.090 [0.130 ]0.120 [0.135 [0.165 [0.080 [0.105
108 A 2 10.095 [0.105 [0.110 [0.100 [0.120 [0.090 [0.165 [0.085 [0.115 [0.105
1A 4| ¥ [0.075 [0.080 [0.090 [0.070 [0.130 [0.090 [0.095 [0.100 |0.135 [0.125
123 1=

13| H

148 H

1508 ] k#5211 0.080 [0.120 [0.100 [0.075 [0.090 [0.120 [0.075 [0.080 [0.105 [0.110
160 ] K #5411 0.075 [0.110 [0.120 [0.075 [0.110 [0.130 [0.115 [0.110 [0.105 [0.110
170 RG24/ 0.135 [0.080 [0.110 [0.105 [0.110 [0.100 [0.075 [0.075 [0.095 [0.135
18| 4| == 10.080 [0.105 ]0.085 [0.075 |0.105 [0.125 ]0.100 [0.125 ]0.110 [0.100
19| T

206 H

218 H [BE4[0.160 [0.150 [0.115 [0.100 [0.115 [0.125 [0.150 [0.100 [0.110 [0.100
220 [ A [iF4] 0. 115 10.065 [0.130 [0.125 [0.130 [0.125 [0.125 [0.110 [0.080 [0.085
23H 1 7]

240 | AR [HE4[0.055 [0.075 [0.110 [0.105 [0.140 [0.120 [0.130 [0.110 [0.110 [0.100
251 [ 4 [ig4] 0. 125 10.120 [0.090 [0.105 [0.080 [0.070 [0.080 [0.150 [0.085 [0.105
26H| T

27TH[ H

28H| H | = [0.100 [0.115 [0.115 [0.070 [0.100 [0.110 [0.070 [0.145 [0.105 [0.090
29H [ [ = [0.110 [0.070 ]0.095 [0.090 [0.135 [0.090 [0.105 [0.095 [0.105 [0.080
300 K [iE41[0.140 [0.090 [0.060 [0.080 [0.110 [0.090 [0.110 [0.100 [0.120 [0.090
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Fpk 2 341 2 A O ARERNER R (FHER)

HAL : uSv/h
q | - S H R S R R e Bk SHEHE TR
| KX
5cm 1m 5cm 1m 5cm 1m 5cm 1m 5cm 1m
10 [AKR[ @ [0.095 [0.085 [0.100 [0.180 [0.120 [0.090 [0.160 [0.110 [0.140 |0.105
2H [&] = [0.070 [0.120 [0.090 [0.095 [0.090 |0.085 [0.135 [0.120 [0.105 [0.085
3| 1=
4H | H
50 | H KA ]0.060 [0.045 [0.120 [0.120 [0.100 ]0.110 [0.100 |0.105 [0.110 [0.080
6H [ ‘&] = [0.100 [0.085 [0.055 [0.115 [0.100 [0.115 [0.095 [0.120 [0.105 [0.085
780 [ K KA 0. 095 [0.160 [0.130 [0.100 [0.130 ]0.130 [0.110 [0.080 [0.095 [0.085
sH [ A = [0.125 [0.105 [0.110 [0.140 [0.140 [0.120 [0.095 [0.100 [0.110 [0.105
90 [4[ = [0.080 [0.070 [0.080 [0.165 [0.100 [0.110 |0.130 [0.140 |0.115 [0.085
10| 1=
11H| H
1268 H [#F410.090 [0.135 [0.165 [0.070 [0.130 [0.130 [0.080 [0.070 [0.120 [0.125
130 ] kg4 0.130 [0.130 [0.125 [0.120 [0.110 [0.120 [0.150 [0.110 [0.100 [0.125
M4H[/K] = 10.090 [0.115 [0.085 [0.110 ]10.105 ]0.110 [0.130 [0.085 [0.110 ]0.110
150 RG24 0.145 [0.110 [0.095 [0.090 [0.105 [0.130 [0.095 [0.100 [0.115 [0.070
160] 4 #5411 0.060 [0.145 [0.115 [0.100 [0.110 [0.100 [0.130 [0.070 [0.100 [0.090
17H] T
18H| H
198 H
20 H [ k&
2181 7
22H |
23H | 4
24H| 1=
25H| H
26H| H
27TH [k
28H | 7]
29H | /
30H | 4
31H| =
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SERL 2 A4 1A OB E R ()

HAL : uSv/h
a || xx SHEHH S R BV B SHEHE TR
5cm 1m 5cm 1m 5cm 1m 5cm 1m 5cm 1m

1H [ H

20 | H

3H [k

4H 17

5H [ 7

6H | &

H| 1T

8H | H

901 | H

108] k#5211 0.085 [0.115 [0.180 [0.145 [0.110 [0.100 [0.105 [0.105 [0.085 [0.075
11H] ZK #5211 0.080 [0.115 [0.125 [0.110 [0.100 [0.100 [0.130 [0.125 [0.110 [0.085
120 A [#E410.085 [0.115 [0.110 [0.110 [0.090 [0.115 [0.125 [0.080 [0.110 [0.105
130] 4 #5411 0. 115 [0.075 [0.120 [0.155 [0.120 [0.115 [0.100 [0.155 [0.140 [0.075
14H) T

150 H

1668 H| 2= [0.070 [0.125 [0.085 [0.135 [0.120 [0.100 [0.105 [0.075 [0.115 [0.085
1768] & #5211 0.090 [0.095 [0.080 [0.065 [0.150 [0.120 [0.085 [0.115 [0.125 [0.110
180 ZK [H541] 0. 065 [0.170 [0.065 [0.085 [0.100 [0.140 [0.145 [0.080 [0.105 [0.085
190 A [#E410.080 [0.135 [0.160 [0.100 [0.110 [0.090 [0.145 [0.065 [0.115 [0.110
200 (4| @9 [0.070 |0.130 [0.145 [0.105 [0.150 [0.115 [0.100 |0.105 [0.135 [0.120
21H| T

22H| H

238 H] = [0.085 [0.130 [0.100 [0.075 [0.165 [0.115 [0.105 [0.090 [0.115 [0.100
241 [ K [F4] 0. 095 10.090 [0.120 [0.065 [0.125 [0.100 [0.100 [0.180 [0.125 [0.120
25 [ K [iF 411 0. 080 [0.110 [0.085 [0.100 [0.150 [0.080 [0.125 [0.120 [0.120 [0.110
26 1 [ AR g4 0. 085 [0.105 [0.135 [0.090 [0.150 [0.110 [0.095 [0.130 [0.115 [0.115
27A| 4 [E4[0. 110 [0.050 [0.090 [0.070 [0.140 [0.160 [0.145 [0.105 [0.120 [0.115
28H| T

29H[ H

so0A| H [E4]0.110 [0.075 [0.085 [0.070 [0.110 [0.100 [0.115 [0.100 [0.110 [0.100
31A] kg4 0.130 [0.075 [0.090 [0.115 [0.120 [0.090 [0.125 [0.135 [0.115 [0.080
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TR 2 A4 2 1 OB E R (PR

HAL : uSv/h
a || xx SHEHH S R BV B SHEHE TR
5cm 1m 5cm 1m 5cm 1m 5cm 1m 5cm 1m

1H |7 5 [0.090 [0.065 [0.140 [0.155 [0.120 [0.110 [0.070 [0.160 [0.115 [0.100
2H | 5 [0.120 [0.075 [0.085 [0.095 [0.095 [0.070 [0.110 [0.140 [0.125 [0.085
3A [ 4| B [0.035 [0.105 [0.090 [0.180 [0.135 ]0.100 [0.100 [0.070 [0.125 [0.080
47 | 1=

5H | H

60 [ H] = [0.085 [0.130 [0.115 [0.105 [0.110 [0.090 [0.075 [0.065 [0.110 [0.110
70 k] [ 10.075 [0.115 [0.085 [0.095 [0.100 [0.080 [0.095 [0.180 [0.110 [0.105
sH [ ] = [0.025 [0.045 [0.100 [0.070 [0.110 [0.090 [0.100 [0.105 [0.100 [0.095
90 [ K| HF [0.060 [0.095 [0.105 [0.120 [0.120 ]0.110 [0.160 |0.075 [0.105 [0.100
108] 4| KF [0.060 [0.095 [0.165 [0.100 [0.120 [0.100 [0.120 [0.090 [0.090 [0.090
113 1T

12| H

13 H| 2 10.080 [0.130 [0.090 [0.055 [0.140 [0.110 [0.120 [0.095 [0.175 [0.120
148k = [0.085 [0.090 [0.105 [0.125 [0.100 [0.100 [0.115 [0.100 [0.100 ]0.110
15A| 7K = [0.115 ]0.085 |0.110 [0.105 |0.115 10.125 ]0.090 [0.085 [0.110 ]0.135
6H[ AR = 10.095 [0.055 [0.135 [0.130 10.090 10.120 [0.090 [0.090 [0.135 ]0.055
178 4| KF [0.085 [0.115 [0.090 [0.105 [0.100 [0.090 [0.115 [0.110 [0.090 [0.120
18H| T

190 H

200 [ H [ BF 10.150 [0.075 [0.115 [0.105 [0.130 [0.100 [0.105 [0.075 [0.110 [0.085
218 [ k[ BF 10.120 10.080 [0.130 [0.100 [0.120 [0.100 [0.140 [0.095 [0.110 [0.105
220 [ K[ BF 10.120 [0.110 [0.085 [0.105 [0.130 [0.090 [0.120 [0.090 [0.110 [0.110
230 A~ d9 [0.115 [0.125 [0.095 [0.080 [0.130 [0.110 [0.070 ]0.090 [0.115 [0.105
240 [ 4 BF 10.135 10.085 [0.105 [0.120 [0.100 [0.090 [0.100 [0.115 [0.110 [0.095
25H| T

26H| H

27A| H | I [0.100 [0.105 [0.090 [0.090 [0.100 [0.090 [0.150 [0.095 [0.090 [0.080
28A| k| I [0.110 [0.085 [0.105 [0.065 [0.125 [0.110 [0.135 [0.135 [0.095 [0.085
290 [ K[ 25 10.160 ]0.140 ]0.110 [0.105 [0.110 [0.120 [0.105 [0.140 [0.110 [0.075
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i E1mps 287> 5 5mld FEEN - AT CEFEI




SERR 2 A4 3 A ORI E R (PR

HAL : uSv/h
a || xx SHEHH S R BV B SHEHE TR
5cm 1m 5cm 1m 5cm 1m 5cm 1m 5cm 1m
1H | AR] BF [0.040 [0.060 [0.125 [0.105 [0.120 [0.090 [0.090 [0.085 [0.150 [0.120
28 [ 4| [y [0.140 [0.140 [0.115 [0.105 [0.110 ]0.080 [0.135 [0.125 [0.120 [0.100
3| 1=
4H | H
5| H | W 10.105 [0.125 [0.145 [0.095 [0.120 [0.110 [0.110 [0.100 [0.085 |0.075
6H [ k] = [0.095 [0.115 [0.120 [0.105 [0.110 [0.090 [0.090 [0.110 [0.085 [0.155
TH|{/K] =Z= [0.080 [0.105 [0.095 10.090 10.090 [0.120 [0.110 ]0.120 10.105 ]0.085
8H | AR| =& [0.095 [0.120 [0.080 10.080 10.100 [0.120 [0.150 ]0.105 10.125 ]0.105
901 | 4| 5 10.115 [0.100 [0.095 [0.075 [0.090 [0.080 [0.110 [0.115 [0.090 |0.100
10| 1=
11H| H
1268 H| KF [0.135 [0.070 [0.100 [0.105 [0.080 [0.100 [0.135 [0.090 [0.110 [0.105
138 ] k| BF [0.105 [0.135 [0.120 [0.100 [0.090 [0.080 [0.100 [0.120 [0.105 [0.070
148 K| BF [0.090 [0.095 [0.095 [0.090 [0.100 [0.130 [0.075 [0.080 [0.115 [0.095
H[A] I MDYy, WERTIE
160] 4| KF [0.130 [0.075 [0.120 [0.110 [0.080 [0.090 [0.085 [0.105 [0.110 [0.105
17H] T
18H| H
19H i 5 [0.120 [0.080 [0.120 [0.100 [0.120 [0.110 [0.075 [0.065 [0.100 [0.090
20H| ¢
21H| 7 T [0.120 [0.110 [0.115 [0.095 [0.090 [0.100 [0.155 [0.115 [0.105 [0.095
28 A 2= [0.135 [0.115 [0.095 [0.090 [0.100 [0.090 [0.175 |0.125 [0.115 [0.085
2384 = [0.120 [0.090 [0.100 [0.095 [0.100 [0.110 [0.100 |0.105 [0.130 [0.130
24H| T
25H| H
26 H i g [0.130 [0.075 [0.115 [0.105 [0.110 [0.100 [0.155 [0.060 [0.115 [0.105
27H| ¢
28H | 7]
29H | /
30H | 4
31H| =
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